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PRIME MINISTER

Meeting on the Budget

You already have a note from the Policy Unit

Douglas Wass has telephoned to suggest that the meeting
should cover the following topics (and I think this fits in with
the approach sSuggested by the Policy Unit):-

(i) What PSBR should we be aiming for in 1981/82?
The Treasury's latest estimate on the conventional
forecasting assumptions (i.e., revalorisation on
indirect taxes and of direct tax thresholds)

is for a PSBR of £13§ b. The forecast has now
—_
deteriorated by nearly £3 b. in the course of the last
D —— )
three weeks. You will want to ask what grounds we

have for believing that it won't deteriorate further
(But there have been some years in which the Treasury

have over-estimated the PSBR - usually, I think, when

the economy has been coming out of recession

This happened in 1977/7
g——

November 1976, we were expecting a PSBR of about

£10 b.: we took £1% b. off the PSBR, and the final

outcome was nearer £5 b.) Then discuss what PSBR

when the IMF came in

would be desirable. To decide this, we really need

to know what monetary target we are going for. The
Treasury are not yet ready to go firm on this because

of the unresolved question of how (i.e., M3 and/or
other measures) the target should be expressed.

But assuming the Treasury are still on 6-10% for M3,

I judge that that would require a PSBﬁ_E?.no more than
£10 b. as a maximum if there can be any confidence

of interest rates falling. On the other hand, taking

as much as £4 b. out of the economy may not be
politically possible; and pace the Policy Unit, even
if it is possible, the short term effect may arguably
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(ii)

(iii)

(iv)
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be too deflationary. We need to consider carefully

the trade-off between the deflation caused by interest
5 —

rates not falling, and the deflation which would

come from what the Policy Unit call "overkill".

From a political point of view, getting the PSBR

down from £831 b. to £10 b. may simply not be possible

- which brings us on to the main revenue options.

What is the maximim RPI effect we can stomach?

Revalorisation on the specific duties, which is already
built into the forecast, adds 1% to the RPI. Twice
revalorisation would add a fur:;er 1% to the RPI, and
yield about €1 b. (The iucreases-:;n of course be
varied as be{;;eu beer, tobacco, etc.: you get a good
deal more revenue fram 222; for a given RPI impact

than from tobacco or spirits. Thus, 1p on a pint of
beer adds O;E;-to the ﬁEI and yields Elg; m. in a

full year; 1p on a pack of cigarettes also adds 0.1%
to the RPI, but yields only £40 m.) Your own feeling
earlier this week was that a full 2% addition to the RPI
was untenable politically; and, of course, the more we
add to the RPI, the more difficult it is to achieve

a given monetary target.

How much do we do on thresholds?
Rooker-Wise require 15%. The Treasury thinking is that
we can't do less than 74%; otherwise, quite apart

from the disincentive ;?}ect, large numbers of
additional people are brought into tax; and this means
MS. By raising thresholds by only
74%, we save about £1 b. on the PSBR.

Bank Levy
The Chancellor's proposal would reduce the PSBR by

£450 m.; he wants your endorsement of it, though I am

/ told




e

Wwe need to be clear on is what will be the

monetary effect of the levy: I have been told that,

hile it reduces the PSBR, it will not have a beneficial
—_— —

ct on the money supply.

) VAT on imports

Chancellor has sent in a minute (Flag A) arguing
Strongly against: he argues that it would have a
ible effect on switching spending to domestic
‘manufacturers, while at the same time it would be a
substantial drain on corporate liquidity. A decision
‘ma today.  IT we were to do this, it would

X on the PSBR.

_Package
ury have in mind some measures to help all
ustry, in addition to the enterprise package

£200 m.) which is designed specifically for
inesses. They have in mind some minor

;‘Bﬁ as helping on energy prices, which

‘about ng m. But in view of the arithmetic
ve, and if we are to get the PSBR down

, it seems doubtful whether we will be

4 (There is one other revenue
‘easury have up their sleeve:
In






